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Find the correct answers (a, b, c or d) and mark them on your answer sheets. 

1. Her behavior is not in conformity with the rules of the college. ‘conformity’ means  ……....  .  

 a. refusal b. agreement c. disagreement d. development 

2. Many young people ……………. to European countries with the hope of finding better lives. 

 a. immigrates  b. to immigrate 

 c. immigrating  d. immigrated 

3. Although in some societies, marrying more than one woman is lawful, many people are 

monogamous . ‘monogamous’ means marriage of ……………. person at one time. 

 a. one b. ten c. no d. many 

4. Since she has moved to Tehran, I haven’t had any ……………….. with her. 

 a. communicate  b. communicative 

 c. communication  d. communicatively 

5. They decided to integrate private sector and public sector. ‘Integrate’ means …………..  . 

 a. combine  b. separate  

 c. split  d. divide 

6. Because of my cold the teacher allowed me to leave the class. ‘Allowed’ means ………  . 

 a. let b. refused c. rejected d. Avoided 

7. After so many car accidents they eventually decided to build a bridge on the road. 

‘Eventually’ means ……………  . 

 a. slowly b. finally c. equally d. usually 

8. I’m searching for an opportunity to visit him. “opportunity” means ………….. . 

 a. occasion  b. vacation 

 c. attention  d. solution 

9. In order to learn a new language, one should study extensively. ‘Extensively’ 

means…………..  . 

 a. slightly b. largely c. fast d. slowly 

10. God is the only …………. of the world. 

 a. create b. creator c. creative d. creatively 
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11. They decided to …………… all their accounts in a single bank. 

 a. center b. central c. centralize d. centrally 

12. This is the most fascinating story I’ve ever read. ‘Fascinating’ means ………………  . 

 a. ugly b. changing c. charming d. fixed 

13. Is she …………… or dead? 

 a. alive b. life c. lively d. lives 

14. I think this shelf can’t sustain the weight of these heavy books. ‘sustain’ means ………….  . 

 a. increase b. decrease c. decline d. support 

15. This factory only manufactures shoes. ‘Manufacture’ means ………………. . 

 a. separate b. ruin c. destroy d. make 

16. More than 40 ………….. of our population is under 15. 

 a. percent b. present c. amount d. quantity 

17. The program on TV is primarily educational. ‘Primarily’ means ………………  . 

 a. mainly b. partly c. slowly d. occasionally 

18. If the check doesn’t have a …………….., the bank will not pay its amount. 

 a. sign b. signs c. signature d. signed 

19. A person’s social, legal or professional position is called his ……………… . 

 a. wage b. habit c. status d. custom 

20. Professor smith is the …………….. of the Noble prize. 

 a. win b. winner c. winning d. winningly 

21. After the death of her husband, she lived in isolation. ‘Isolation’ means ………………..  .   

 a. separation b. communication c. society d. meeting 

22. To define or identify a society, we depend on both mutual interaction and common patterns. 

‘mutual’ means …………….  . 
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 23. Once we start with a model of society, we go with it as far as we can. “As far as” means 

……………..  . 
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24.  Whereas horticultural and agrarian societies rely on agriculture, industrial societies rely on 

technology. ‘Industrial’ means ……………..  . 
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25. They are now involved in a political challenge. ‘political challenge’ means …………….  . 
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26. As industrial revolution proceeded, a new form of social structure emerged. ‘Revolution’ 

means ………………  . 
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27. She lived all her life in poverty. ‘Paverty’ means …………… 
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28. Sociologists seek out the multiple causes and effects of suicide or other social issues. 

‘suicide’ means ……………….  . 
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29. A new social class of industrialists emerged in textiles and related industries. ‘Emerged’ 

means ……………..  . 
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30. At that time urban problems were growing worse. ‘urban’ means …………….. . 
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